

شماره رویی دارد

175

مده خودت جدوشونگیری!

$$f(x) = \sqrt{x^3(x-1)} \Rightarrow x^3(x-1) \geq 0 \Rightarrow x^3(x-1) \geq 0 \Rightarrow x^3(x-1) \geq 0$$

$$y = \sqrt{x^3(x-1)} \Rightarrow 1-x \geq 0 \Rightarrow x \leq 1$$

$$x^{1-x} = 1 \Rightarrow 1-x \geq 0 \Rightarrow x \leq 1$$

$D = [0, 1]$

2

دقت کن!

$$f(-x) = \sqrt{-x+|x-2|} \Rightarrow |x-2|-x \geq 0 \Rightarrow |x-2| \geq x$$

$$\Rightarrow x^2+2-fx-x^2 \geq 0 \Rightarrow x \leq 1$$

$D_f = (-\infty, +1]$

3

2

$\omega = 1, 2, 3, -5$

	-5	1	2	3
$x-1$	-	-	0	+
$f(x)$	+	0	-	0
$\frac{x-1}{f(x)} \geq 0$	-	+	0	-

$D_y = (-5, 1] \cup (2, 3)$

راحت کامل

استیاده فیمایا میانه رویجون

0

$$x=0 \Rightarrow y_1 = \frac{1}{-3}, y_2 = \frac{1}{b} \Rightarrow b = -3$$

$$x=1 \Rightarrow y_1 = \frac{1}{-a}, y_2 = \frac{1}{\frac{1}{a}+a} = \frac{1}{a} \Rightarrow a = -a$$

$$\sqrt{-(a+b)} = \sqrt{8} = 2\sqrt{2}$$

4

5

$$y = \sqrt{x^3 + x - \left(\frac{f}{x}\right) - \frac{f}{x}} = \left(x - \frac{f}{x}\right) \left(x^2 + \frac{14}{x} + f+1\right) = \left(\frac{x^2-f}{x}\right) \left(x^2 + \frac{14}{x} + f+1\right)$$

$\Delta < 0$

$D_f = [-2, 0) \cup [2, +\infty)$

$$\frac{x^3 + \omega x^2 + 14x}{x} \Rightarrow \frac{x^2 + \omega x + 14}{x} = 0 \Rightarrow t = -\omega \pm \sqrt{\omega^2 - 28} \Rightarrow \Delta < 0$$

$$f(x) \rightarrow x^3 + k = 1 \quad x^3 + k - 1 = 0 \rightarrow \frac{x^3 + k - 1}{x^3 - x^2} \left| \frac{x-1}{x^3 + x^2 + 1} \right.$$

$$x^3 + k - 1 = (x-1)(x^2 + x + 1) = 0$$

$$\rightarrow \boxed{x=1} \rightarrow \boxed{f(1)=1}$$

$$f(1.0) \Rightarrow x^3 + k - 1.0 = 0 \rightarrow \frac{x^3 + k - 1.0}{x^3 - x^2} \left| \frac{x-1}{x^3 + x^2 + 1} \right.$$

$$\rightarrow (x-1)(x^2 + x + 1) = 0$$

$$\rightarrow \boxed{x=1} \rightarrow \boxed{f(1.0)=1}$$

$$f(1) + f(1.0) = 1 + 1 = \boxed{2}$$

$$f(x) = x(x^2 - 9x + 11) = (x-1)(x-2)(x-1) + 1 = (x-1)^2 + 1$$

$$g(x) = x^3 + 9x^2 + 2x = (x+3)^3 - 27$$

$$\frac{g(\sqrt{2}-1)}{f(\sqrt{2}+1)} = \frac{2 - 2\sqrt{2}}{2 + 1} = \frac{-2\sqrt{2}}{3} = \boxed{-\frac{2\sqrt{2}}{3}}$$

$$\sqrt{x+f\sqrt{x-f}} + \sqrt{x-f\sqrt{x-f}} = a+b\sqrt{x+c} = A$$

$$A^2 = 2x + 2\sqrt{x^2 - 19x - 4} \Rightarrow A^2 = 2x - (19x) + 2x = 2x - 19$$

$$\sqrt{2x-19} = a+b\sqrt{x+c} = 2\sqrt{x-f} + 0$$

$$\rightarrow a=0, b=2, c=-f$$

$$\frac{a+b}{c} = \frac{2}{-f} = \boxed{-\frac{2}{f}}$$

$$f(1) = \frac{1}{-1} = -1, f(1.1) = 0, f(1.2) = 0, f(1.3) = 0$$

$$f(x) = \frac{(x+1)}{(x-1)(x-2)}$$

$$\left| \frac{g}{f} = \left(1, -\frac{1}{2}\right), (0, 1) \right|$$

$$f(x) = \left\{ \left(\frac{1}{2}, 2\right), \left(\frac{3}{2}, -1\right), (2, 2), \left(-\frac{1}{2}, 1\right) \right\}$$

$$f(x^2) = \left\{ (-1, 2), (1, 2), (-3, -1), (3, -1), (-5, 2), (5, 2), (-7, 2), (7, 2) \right\}$$

$$2g(x) + 1 = \left\{ (-2, 1), (1, 3), (3, 9), (-1, 3) \right\}$$

$$\frac{2f}{g} = \left\{ (3, -1), (1, -3) \right\}$$

(15)

فقط باید ریشه دوم
را منهای دو مرتبه